Week 5 (5/18 - 5/22):

Surface Area & Volume

of the surfaces

added together.

Volume: The volume of a geometric figure is the measure of the

Surface Area: The surface area of a geometric figure is the total area
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V_ How much will an object S-ﬂ
hold?

V _ Filling a swimming pool with SA
| water
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SR

\ Cardboard on a box

amount of space inside solid figure.

Directions: Read each statement below. Put a V for volume or a SA for surface area.

How much is needed to V'
cover a 3D object? —

Cubic Units

=

Fill 5“ Square Units

4 — —_—

Wrapping Paper V Filling a cooler with ice

Covering a table with a

_\[__ Pouring sand in a sandbox
tablecloth

Wrapping a birthday present | _ V The paint in a gallon can

Directions: Label each scenario below as either Surface Area (SA) or Volume (V).

1. Putting water into a

2. Wrapping a birthday

3. Thelining and cover of | 4.

The paint held in the

swimming pool

Volume

present with wrapping
paper

Surface Area

a swimming pool

Surface Area

gallon paint can

Volume

5. Remodeling a bedroom
using paint and carpet

Surface Area

6. The cardboard of a
cereal box.

Surface Area

7. Pouring sand in a
sandbox

Volume

Pouring cement to
construct a sidewalk

Volume



Volume

Surface Area

Surface Area

Surface Area

Volume

Surface Area

Volume

Volume
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mﬁ’@’@@@ @sl?: The surface area of a geometric figure is the total area of the
surfaces added together. T= 2,| 'Jf

. Cylinder Formula: Rectangular Prism Formula:
SA = 2rr% + 2nrh SA = 2lw + 2lh + 2wh
r = radius /= length
h = height w = width
h = height
Surface Area = unit’ Surface Area = uit?
Calculate the surface area. Caleulate the surface orea.
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Directions: Calculate the surface area for each of the following.

m=314 r= h=

SA = 2@r? + 2mrh

414.48 km squared

m=314 r= h=

SA = 2@r? + 2mrh

533.8 yd squared

9. 10. 11.
E
o 9in 7 vm
’ S om
§m 10 cm
im Sin L= w=__  h=__
L= we- h= o SA = 2lw + 2Ih + 2wh
- T L= W = h:
SA = 2lw + 2lh + 2wh
SA = 2lw + 2lh + 2wh
92 m squared 146 in squared 310 cm squared
12. 13. 14.
5 km

m=314 r= h=

SA = 2@r? + 2mrh

502.4 cm squared



92 m squared

146 in squared

310 cm squared

414.48 km squared

533.8 yd squared

502.4 cm squared


-------------------------------------------------------------------------------------------------------------------------

V@IYa®@: The volume of a geometric figure is the measure of the amount of space
inside solid figure.

Cylinder Formula: "= 3, |4
V = ar’h

r = radius
h = height

Volume = unit®

Rectangular Prism Formula:

V= lwh
I = length
w = width
h = height

Volume = unit®

‘ aalcuiuTe_Thr. WIR o - | caleulate the volume.
L E
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Calculate the volume. Calculate the volume.
V=1rh - V=1r’h
V=3ie|1* 2 [ V=3.4-247 30
-V--QbslUtBng \\j: o 259.30\«\5]




Directions: Calculate the volume for each of the following.

15.

16. 17.
E
o 9in 7 o
= om
8m 10 cm )
Im 5in L= w=___  h=___
L= w=___ h=___ o V =Iwh
V = lwh b= w=__ h=
V =lwh
48 m cubed 90 in cubed 350 cm cubed
18. 19. 20.
—
E__ﬁJ 5 km
B 6 km
n=314 r= h=_
V = nrh
565.2 km cubed 942 yd cubed 863.5 cm cubed



48 m cubed

90 in cubed

350 cm cubed

565.2 km cubed

942 yd cubed

863.5 cm cubed


Week 6 (5/26 - 5/29):

NOTES
Part Il: Word Problem Practice =3
A birthday present is packaged in a tube that has a Jength of 10 inches and a diameter og’-
inches. How much paper is needgri to wraE the present? r=2 h=10 ‘

Type of Measurement:

Formula: Sk= a“..ra‘*awh
=Q¢3. 427+ 203,14 Q10
Sk= ISD. 12 in®

RP

A cereal box has a length of 8 inches, a width of I% inches, and a height of li% inches.

How much cereal is needed to tiﬂe box?

Type of Measurement: of RP

Formula: \/: QN"\

-
== V=8 1312
Ve 1bd.1Sin §
Find the surface area of acanwith a radius of 4 centimeters and a height of 11 centimeters,
" rypeot ShoF C

Type of Measurement:
Formula:

Sk=amy?+ anmyh
=263 443+ 234 Hell

SA=Z 3.9

If a gylindrical water bottle has a radius of 7 centimeters and length of 14 centimeters,
how many cubic centimeters of water will it hold?
Vof ©

Type of Measurement:

Formula: o T\"f:k’\
V=341 .
V= 2154, 04 em




**Keywords have been underlined!

1. A packaging company needs to know how much cardboard will be required to make boxes 18 inches long, 12
inches wide, and 10 inches high. How much cardboard will be needed for each box if there is no overlap in the
construction?

Circle one: SA of a prism SA of a cylinder V of a prism V of a cylinder

1032 in squared

2. Gasoline is stored in a cylindrical container that has a diameter of 13.8 meters and a height of 4.7 meters.
Which is closest to the amount of plastic needed to cover the entire container?

Circle one: SA of a prism SA of a cylinder V of a prism V of a cylinder
I BEm T~
D 502.65 m squared
47 m
A 299.14m? B 450m? C 500m? D 502.65m?
3. Tim is making a play block for his baby sister by gluing fabric over the entire surface of a foam block. If the

length is 6.1 inches, width is 2.3 inches, and height is 2.3 inches, how much fabric will Tim need?

Circle one: SA of a prism SA of a cylinder V of a prism V of a cylinder
66.7 in squared
4, Find the surface area of the outside of a cylindrical barrel with a diameter of 10 inches and a height of 12 inches.
Circle one: SA of a prism SA of a cylinder V of a prism V of a cylinder

533.8 in squared


1032 in squared

D     502.65 m squared

66.7 in squared

533.8 in squared


5. Sherri wants to cover a rectangular-shaped box with wrapping paper. Which is closest to the maximum amount
of wrapping paper Sherri needs?

Circle one: SA of a prism SA of a cylinder V of a prism V of a cylinder
149 yd C 471.4ydsquared
7 yd
6yd
A 235.7yd? B 292.6yd? C 471.4yd? D 625.8yd’

1. Fran is given a box to_put her cupcakes in. Each cupcake is 3 inches long, 3 inches wide and 2 inches tall. How
many cupcakes will fit in the box?

Circle one: SAofaprism SA of a cylinder V of a prism V of a cylinder

Volume of box: 630 in cubed
Volume of cupcake: 18 in cubed
630 divided by 18 = 35 cupcakes

7in.

35 cupcakes can fit in the box.

A can of corn has a diameter of 6.6 centimeters and a height of 9.9 centimeters. How much corn can the can
hold?

Circle one: SA of a prism SA of a cylinder V of a prism V of a cylinder

338.53 cm cubed


C     471.4 yd squared

Volume of box: 630 in cubed  

Volume of cupcake: 18 in cubed  

630 divided by 18 = 35 cupcakes

35 cupcakes can fit in the box.

338.53 cm cubed


3.
Round to the nearest tenth.

Tracy would like to fill the glass container shown with A
pasta from a box.
6.4 1n. . 254.40 in cubed
- Correct answer!
8.11n. oem o™
| B
Identify each box of pasta in which the entire content 83 In 262.40 in cubed
of the box will fit in the glass container. o
Volume of glass container: 260.44 in cubed 4in
Hin.
C
6 In 242.40 in cubed
Correct answer!
10.1 im. n.
4, Nick wants to determine how much ice it will take to fill his cooler. If the cooler has a length of 22 inches, a

width of 12 inches, and a height of 10% inches, how much ice will his cooler hold?

Circle one: SA of a prism SA of a cylinder V of a prism V of a cylinder

2772 in cubed

5. Jenny’s box of candy is empty. What is the closest amount needed to fill the box if two pieces of candy each one
cubic centimeter?

Circle one: SA of a prism SA of a cylinder V of a prism V of a cylinder
3 cm Volume of candy box: 180 cm cubed
180 cm cubed x 2 = 360
6 cm
10 cm A 360 pieces

A 360 pieces B 180 pieces C 38 pieces D 19 pieces



Volume of glass container: 260.44 in cubed  

254.40 in cubed  

262.40 in cubed  

242.40 in cubed  

Correct answer!

Correct answer!

2772 in cubed

Volume of candy box:  180 cm cubed

180 cm cubed x 2 = 360

A     360 pieces


Mr. & Mrs. Williams built an elevated garden in March to grow vegetables. The picture below are actual pictures and
measurements for the elevated garden.

Volume = 46176 in cubed

Store: Lowe’s
Miracle-Gro 1.5 ft* Organic Raised Bed Soil

1 cubic ft = 1728 cubic in
46176 in cubed divided by 1728 cubic in = 26.72 ft cubed

26.72 ft cubed divided by 1.5 ft cubed = 17.81 bags ~ 18 bags

Store: Lowe’s

$8.98 per bag 18 bags x $8.98 = $161.64 total price



Volume = 46176 in cubed

46176 in cubed divided by 1728 cubic in = 26.72 ft cubed 

26.72 ft cubed divided by 1.5 ft cubed =  17.81 bags ~ 18 bags 

1 cubic ft = 1728 cubic in

18 bags x $8.98 =   $161.64 total price


